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  154   Hronská Dúbrava - Banská Štiavnica a späť 
km

  
 Vlak  

 
 6107 
  

 
 

 6181 
  

 
 

 
 

 6119 
  

 
 

 6123 
  

 
 

 6131 
  

 
 

        Zvolen os. st. 150   6 19   7 11    13 08   15 09   19 09  
  Zo stanice       Zvolen os. st.      

0 Hronská Dúbrava 150,171   6 44   7 26    13 25   15 22   19 23  
8 Kozelník    6 56   7 38    13 37   15 34   19 35  

13 Banská Belá zastávka                   
15 Banská Belá    7 06   7 48    13 47   15 44   19 45  
18 Banský Studenec    7 10   7 52    13 51   15 48   19 49  
20 Banská Štiavnica     7 14   7 56    13 55   15 52   19 53  

              km
  

 Vlak  6104 
  

  6180 
  

  6116 
  

 6120 
  

  6124 
  

  6182 
  

  6184 
  

0 Banská Štiavnica   5 42   5 55   12 00  13 59   15 55   17 22   17 54 
2 Banský Studenec   5 46   5 59   12 04  14 03   15 59   17 26   17 58 
5 Banská Belá   5 50   6 03   12 08  14 07   16 03   17 30   18 02 
7 Banská Belá zastávka                     

12 Kozelník   6 00   6 13   12 18  14 17   16 13   17 40   18 12 
20 Hronská Dúbrava 150,171   6 12   6 25   12 30  14 29   16 25   17 52   18 24 

  Do stanice     Zvolen os. st. Zvolen os. st.       
        Zvolen os. st. 150   6 24   6 48   12 48  14 48   16 39   18 39   18 39 

 ide v  a   ide v  a 22.IV., nejde 23., 30. XII., 21. IV., 
30.VI. - 31. VIII. 

 ide 23.,30.XII., 21.IV., 30.VI., 7.,14.,21.,28.VII., 
4.,11.,18., 25.VIII. 

 nejde v  a 22. IV.

 

1
5

4
 


